
209P-12-8
1/2FPTx3/4Hex 

Bushing

209P-16-12
3/4FPTx1Hex 

Bushing

215PN-2
1/8"MPT Close 

Nipple

215PN-6
3/8"MPT Close 

Nipple

215PN-8
1/2"MPT Close 

Nipple

215PNL-6-20
3/8x2" MPT  

Nipple

2202P-2-2
1/8FPTx1/8" MPT  

Street E lbow

218P-2
1/8MPT Plug

218P-4
1/4MPT Plug

218P-6
3/8MPT Plug

80GH-12-8
3/4MHx1/2FPT 

Male Hose 

71GH-12-12
3/4MHx3/4MPT 

Male Hose 

96GH-12
3/4FH Hose Cap

901GH-12
¾ Rubber Washer

1219-13004
5/32” Black 

Pneumatic Tubing

1219-44003
¼” Black 

Pneumatic Tubing

TL15-030-8B
1-½” 0-30PSI 

Gauge

1219-130T4
5/32” Black Twin 

Pneumatic Tubing

1219-130T4
5/32” Black Twin 

Pneumatic Tubing

69GH-12-6
3/4MHx3/8MPT 

Male Hose

1219-440A3
¼” Whi te 

Pneumatic Tubing

1219-440B3
¼” Red 

Pneumatic Tubing

1219-440C3
¼” Orange 

Pneumatic Tubing

1219-440D3
¼” Yellow 

Pneumatic Tubing

1219-440E3
¼” Green 

Pneumatic Tubing

1219-66203
3/8” Black 

Pneumatic Tubing

224-8-8-6
½ x½ x 3/8
Barb Tee

225-4-4
¼ Barb Elbow

225-6-6
3/8

Barb Elbow

225-8-8
½

Barb Elbow

20-4-5/32
1/4x5/32
Barb Plug

20-4
1/4

Barb Plug

20-6
3/8

Barb Plug

20-8
1/2

Barb Plug

28-5/32-2
5/32Bx1/8M

Adapter

28-4-2
¼ Bx1/8 M

Adapter

22BH-4-4
¼ Barb x 
¼ Barb

Bulk Head

230-4-2
¼ Barb x 

1/8 FPT Elbow

22CA-4-4
¼ Barb x 
1/4 Comp 

22BH-6-6
3/8 Barb x 
3/8 Barb

Bulk Head

269C-4-2
¼ Comp x

1/8 MPT Elbow

269C-4-4
¼ Comp x

¼ MPT Elbow

269C-6-4
3/8 Comp x

¼ MPT Elbow

68C-6-4
3/8 Comp x ¼ 
MPT Adapter

68C-6-6
3/8 Comp x 3/8 
MPT Adapter

68C-6-8
3/8 Comp x ½  
MPT Adapter

63PT-4-40
¼” Tubing Insert

63PT-6-62
3/8” Tubing Inser t

63PT-8-62
1/2” Tubing Inser t

639C-4
¼” Tube Cap/Plug

F-1000-4
¼” Rubber Cap

1200P-2-2
1/8” FPT Elbow

1200P-4-4
¼” FPT Elbow

1200P-6-6
3/8” FPT Elbow

1203P-2
1/8” FPT Tee

1203P-4
¼” FPT Tee

2203P-6
3/8” FPT Tee

207P-4
¼" FPT Coupler

207P-6
3/8" FPT Coupler

208P-6-4
3/8x¼  FPT 

Coupler

209P-4-2
1/8FPTx1/4Hex 

Bushing

209P-6-2
1/8FPTx3/8Hex 

Bushing

209P-6-4
1/4FPTx3/8Hex 

Bushing

209P-8-2
1/8FPTx1/2Hex 

Bushing

209P-8-4
1/4FPTx1/2Hex 

Bushing

209P-8-6
3/8FPTx1/2Hex 

Bushing

NV105C-6
3/8” Needle Valve

LOC: S-1 LOC: S-1 LOC: T-1 LOC: T-1 LOC: T-1 LOC: T-1 LOC: U-1 LOC: U-1

1219-440G3
¼” Violet  

Pneumatic Tubing

LOC: U-1

LOC: V-1

LOC: R-5

LOC: 1/2/2/1 LOC: 1/2/2/3 LOC: 1/2/2/5

LOC: 2/5/3/6

20-693
Tygothane 

Tube

LOC: 1/2/2/7

LOC: 1/7/3/1

LOC: 1/6/3/1 LOC: 1/7/1/1 LOC: 1/7/1/3 LOC: 1/7/1/5 LOC: 1/9/2/5 LOC: 1/9/2/1

LOC: 1/8/1/1

LOC: 1/8/3/1 LOC: 1/8/3/6 LOC: 1/9/1/1

 LOC: 2/3/3/6 LOC: 2/4/1/1

LOC: 2/2/3/1 LOC: 2/2/3/3 LOC: 2/2/3/6

LOC: 2/2/2/6 LOC: 2/5/1/1 LOC: 1/1/1/1 LOC: 1/1/1/3 LOC: 1/2/3/3 LOC: 1/2/3/6 LOC: 1/2/3/8

LOC: 1/3/1/8 LOC: 1/3/1/9 LOC: 1/3/2/1 LOC: 1/3/2/5 LOC: 1/3/3/1 LOC: 1/3/3/6 LOC: 1/3/1/1 LOC: 1/3/1/6 LOC: 1/4/1/1 LOC: 1/4/1/5

LOC: 1/4/1/7 LOC: 1/4/2/1 LOC: 1/5/1/6 LOC: 1/4/2/2 LOC: 1/4/2/3 LOC: 2/4/2/1 LOC: 2/4/3/1 LOC: 2/4/1/6 LOC: 2/4/3/4 LOC: 2/4/3/3

LOC: 2/4/3/8

LOC: 1/7/3/3

LOC: 2/3/3/2

LOC: 1/1/2/1 LOC: 1/1/2/3 LOC: 1/5/2/1

224-8
½

Barb Tee

LOC: 1/6/2/3

224-8-8-4
½ x½ x¼
Barb Tee

LOC: 1/6/2/7

28-6-2
3/8Barb x1/8M

Adapter

LOC: 1/9/2/8

26-4-2
¼Barbx1/8FPT

Adapter

LOC: 1/8/2/7

232-4-2
¼ Barb x 

1/8 MPT T

228-4-2
1/4Barb x 
1/8MPTx
1/8FPT

220-4-2
¼ BarbX1/8MPT

Drop Ear Tee

237-4-2
¼ Barb x 
1/8 FPT T

2200PDE-2 
1/8 FPT

Drop Ear Tee

229-4-2
¼ Barb x 

1/8 MPT Elbow

22CABH-4-4
¼ Barb x 
¼ Comp

Bulk Head

22CABH-6-6
3/8 Barb x
3/8 Comp
Bulk Head

LOC: 1/5/1/1 LOC: 1/8/2/1

LOC: 1/5/1/3

LOC: 1/7/1/7LOC: 1/8/1/7LOC: 1/7/3/5

LOC: 1/7/2/1

LOC: 1/7/3/8

62C-4
¼ Comp Union

62C-6
3/8 Comp 

Union

62C-8
½ Comp Union

62C-6-4
¾ x ¼ Comp 

Union

62C-8-6
¾ x ¼ Comp 

Union

164C-4
¼ Comp Tee

164C-6
3/8 Comp Tee

164C-8
½ Comp Tee

177CA-4-2
¼ Comp x

1/8 FPT Tee

LOC: 2/2/1/1 LOC: 2/2/1/6 LOC: 2/2/2/2 LOC: 2/2/2/1 LOC: 2/2/2/4 LOC: 1/1/3/1 LOC: 1/1/3/3

LOC: 1/2/1/3

269C-6-6
3/8 Comp x

3/8 MPT Elbow

165C-4
¼ Comp x

¼ Comp Elbow

165C-6
3/8 Comp x

3/8 Comp Elbow

165C-8
½ Comp x

½ Comp Elbow

68C-4-2
¼ Comp x 1/8 
MPT Adapter

68C-4-4
¼ Comp x ¼  
MPT Adapter

68C-4-6
¼ Comp x 3/8 
MPT Adapter

68C-6-2
3/8 Comp x 1/8 
MPT Adapter

LOC: 1/9/1/3 LOC: 1/2/1/1 LOC: 2/3/1/4 LOC: 2/3/2/1

LOC: 2/3/2/6 LOC: 2/3/3/1

181SP-04
¼” Breakaway 

Comp

LOC: 1/7/2/6

60C-3
3/16" Ferrule

LOC: 2/1/1/3

60C-4
¼ Ferru le

LOC: 2/1/1/5

60C-4
¼ Ferru le

LOC: 2/1/1/5

60C-5
5/16 Ferrule

LOC: 2/1/1/8

60C-5
5/16 Ferrule

LOC: 2/1/1/8

60C-6
3/8 Ferrule

LOC: 2/1/2/1

60C-6
3/8 Ferrule

LOC: 2/1/2/1

61C-2
1/8 Comp Nut

LOC: 2/1/3/1

61C-2
1/8 Comp Nut

LOC: 2/1/3/1

61C-4
¼ Comp Nut

LOC: 2/1/3/3

61C-4
¼ Comp Nut

LOC: 2/1/3/3

61C-5
5/16 Comp Nut

LOC: 2/6/1/1

61C-5
5/16 Comp Nut

LOC: 2/6/1/1

60PT-4
¼” Der lin Ferrule

LOC: 2/1/2/3

60PT-6
3/8" Derlin Ferrule

LOC: 2/1/2/5

60PT-8
½” Der lin Ferrule

LOC: 2/1/2/7

61C-3
3/16 Comp Nut

LOC: 2/1/3/2

60C-2
1/8 Ferrule

LOC: 2/1/1/1

60C-2
1/8 Ferrule

LOC: 2/1/1/1

66C-4-2
½ Comp x
1/8 FPT

LOC: 2/3/1/1

68C-8-8
½ Comp x ½  
MPT Adapter

LOC: 2/4/1/3

68C-8-8
½ Comp x ½  
MPT Adapter

LOC: 2/4/1/3

68C-3-2
3/16 Comp x

1/8 MPT

LOC: 2/3/1/2

NV105C-4
¼” Needle Valve

LOC: 2/4/3/6

61C-6
3/8 Comp Nut

LOC: 2/1/3/7

61C-6
3/8 Comp Nut

LOC: 2/1/3/7

207P-2
1/8" FPT Coupler

LOC: 1/2/3/1

207P-2
1/8" FPT Coupler

LOC: 1/2/3/1

215PN-4
1/4"MPT Close 

Nipple

LOC: 1/4/1/3

1219-440F3
¼” Blue 

Pneumatic Tubing

LOC: U-1

LOC: 1/8/1/4

231-4-2
¼Barbx1/8MPT

Tee

LOC: 1/8/1/4

231-4-2
¼Barbx1/8MPT

Tee

M-622
¼” Single Tube 

Strap

LOC: 2/5/3/1

0548-A01-
KM0030

½”NPT 30PSI 
Setpoint

F-1000-386
3/8” Single 
Tube Strap

F-1000-389
1/4” Double 
Tube Strap

R-3710-2007
Restrictor .007"

Aqua ¼”

LOC: 2/5/2/1

R-3710-3007
Restrictor .007"

Aqua ¼”

LOC: 2/5/2/1

22-5/32
5/32 Barb 
Coupling

22-4
¼ Barb 

Coupling

22-4-5/32
1/4x5/32

Barb Coupling

22-4-6
3/8x1/4

Barb Coupling

22-6
3/8

Barb Coupling

22-6-8
1/2x3/8

Barb Coupling

22-8
1/2

Barb Coupling

224-5/32
5/32

Barb Tee

224-4-4-5/32
1/4x1/4x5/32

Barb Tee

224-4
1/4

Barb Tee

224-6
3/8

Barb Tee

224-6-6-4
3/8x3/8x¼ 
Barb Tee

LOC: 1/4/3/4 LOC: 1/4/3/2 LOC: 1/4/3/1 LOC: 1/4/3/3 LOC: 1/4/3/5 LOC: 1/4/3/6 LOC: 1/4/3/9 LOC: 1/5/3/5 LOC: 1/5/3/1 LOC: 1/5/3/7 LOC: 1/6/1/1 LOC: 1/6/2/1

22-5/32
5/32 Barb 
Coupling

22-4
¼ Barb 

Coupling

22-4-5/32
1/4x5/32

Barb Coupling

22-4-6
3/8x1/4

Barb Coupling

22-6
3/8

Barb Coupling

22-6-8
1/2x3/8

Barb Coupling

22-8
1/2

Barb Coupling

224-5/32
5/32

Barb Tee

224-4-4-5/32
1/4x1/4x5/32

Barb Tee

224-4
1/4

Barb Tee

224-6
3/8

Barb Tee

224-6-6-4
3/8x3/8x¼ 
Barb Tee

LOC: 1/4/3/4 LOC: 1/4/3/2 LOC: 1/4/3/1 LOC: 1/4/3/3 LOC: 1/4/3/5 LOC: 1/4/3/6 LOC: 1/4/3/9 LOC: 1/5/3/5 LOC: 1/5/3/1 LOC: 1/5/3/7 LOC: 1/6/1/1 LOC: 1/6/2/1

68C-5-4
5/16 Comp x 1/4 

MPT Adapter

LOC: 2/3/2/8

238-4-4
¼” Sweat to

¼” Barb

LOC: 1/8/2/5

222P-4-2
1/4FPTx1/8MPT 

Coupler

LOC: 1/5/2/3

LOC: 2/6/2/1LOC: 2/6/2/3 LOC: 2/6/2/6

LOC: 2/6/2/1

LOC: 2/6/2/3 LOC: 2/6/2/7

LOC: 2/6/3/1

LOC: 2/6/3/3

LOC: 2/6/3/5


	Pneumatic Parts.vsdx
	Page-1


